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Name of  the  Candidate :
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B.Com. DEGREE EXAMINATION, 2008

( THIRD  YEAR )

( PART - IV )

( PAPER  -  V )

330 / 710.  ADVANCED  ACCOUNTANCY

( Common  with  B.Com.,  I.B.  and  B.Com. -

Accounting  and  Finance )

( Including  Lateral  Entry  and  Double  Degree )

December ]   [ Time : 3 Hours

Maximum  :  100  Marks

Answer  any  FIVE  questions.

All  questions  carry  equal  marks.

(5 × 20 = 100)
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1. Arun  and  Balan  who  shared  profits  in

the  ratio  of  3 : 2  took  a  joint  life  policy  on

1st  May,  1999  for  Rs. 30,000.  The  annual

premium  was  Rs. 1,300.  The  surrender  value

of  the  policy  was :

1999 - Nil.

2000 - Rs. 400.

2001 - Rs. 900.

2002 - Rs. 1,450.

Balan  died  on  15th  September,  2002  and

the  amount  of  the  policy  was  received  on

December - 31,  2002.  The  books  are  closed

on  December - 31,  each  year.

Show  Joint  Life  Policy  and  Joint  Life

Policy  Reserve  account.

2

10. ô§ kÅvu, LÈ¶¥ - 1, 2002 - u ì][ yd©

ô§  kª@B¼ã¥Xw§ig  D �Âid°¹  Dcd �Ac

èd ã � A   ¨ .   1 5 , 0 0 0   í �^id  ï¥ � v c   èd ã � A

ô§ XÇÌ@D ¨. 2 ¸du Dcd�A@D ñ[cdg.

D c d � A}©  òÁp[u   D � Â   ïÁp ce   yd©

zÇÅ  ì][A±©  xW[@èA ã¯³u

ï¥ � v � | o   èpÁÅ¯°g .   Dcd � A}Ç  yd©

óig ì][A³@AãÈ ïÁpce  4,000  XÇA¯,

10,000  XÇA¯,  12,000  XÇA¯,  15,000  XÇA¯

vÁÅu,  15,000  XÇA°ãA y�Âé|  í§idg.

évÁDÃoqWX jX¶Y@�AA³@D kÅvceÇ

ò[A±©  óig  ì][A³@AãÈ  DÃoépW[o

pe¹A¯  d§A.
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3

2. The  balance  sheet  of  a  firm  on  31st  March,

2002  was  as  follows :

The  firm  was  dissolved  on  March - 31,

2002.  Creditors  were  paid  at  a  discount  of

5 %.  Arun  agreed  to  take  over  the  buildings

at  Rs. 9,000.  Balan  took  the  investments  at

Rs. 1,500  and  Charles  took  the  book  debts

at  Rs. 600.  The  expenses  of  realisation  came

to  Rs. 110.  Close  the  books  of  the  firm.

AssetsLiabilities Rs. Rs.

Arun’s  capital 5,000

Balan’s  capital 4,000

Charles’s capital 3,000

Creditors 2,000

14,000

Buildings 8,000

Investments 2,000

Book  debts 2,000

Cash 2,000

14,000

Turn over

9 . Oé¤Ö  ñÇp¶£  ô§  èdã �ª@AãWM  èpWY �|

¶ãX �A@  èAã¯yd©  ëYop �X}©  qÇ¶§u

kpid �ÈA±ÇpY  ¶ãFBÈã£.

¨.  1,200  ïXÇpã[  �Aè|¿cg[uépãg.

¨.  1,700 ydªãu ì][ íÅe}­u.

¨.  1,600  í¤]Xãu ì][ íÅe}­u.

¨.  5 , 500  zÇÂãu  ì][  íÅe}­u

èAã[@AopXé¶][u.

¶ãX �A  ·Áp �È|ã°£  ì][  ôÇÅ@D

10 Ld¸du ¶WY ¶P«@BÇÂã£. D�Âid èL©

í§os  xg  ì][  ôÇÅ@D  10  Ld¸du

éd{vãÈu  ôg@Aop[BÇÂg.  Oé¤Ö  òWY©

édãÇÂcd@A  DÃoépW[o  pe¹A¯  dig

è L ã cg @ A^@D   v ÁÅ u ,   · Á p � È | ã° £

A^@D  d|ã¥@A¹u.
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3. A,  B  and  C  are  in  partnership.  The  following

is  their  balance  sheet  as  on  December - 31,

2005  on  which  date  they  dissolve  partnership.

The  profit  sharing  ratio  5 : 3 : 2  respectively :

It  was  agreed  to  repay  the  amounts  due  to

the  partners  as  and  when  the  assets  are

realised :

I - instalments  Rs. 60,000.

II - instalments  Rs. 1,46,000.

III - instalments  Rs. 94,000.

Prepare  a  statement  showing  how  the

distribution  should  be  made.

Rs. Rs.

Creditors 80,000

Loan  a/c - A 20,000

Capital accounts :

A     60,000

B     80,000

C     80,000 2,20,000

3,20,000

Premises 80,000

Plant  &

     Machinery 60,000

Stock 60,000

Debtors 1,20,000

3,20,000

4

¨.....

í X ã o s   · � ª } ©   d � ª � v

ë­¶ªAceÁD  e§oq

     ëÌoq|g - 800

íÅe}§os  (31-3-2006) :

íXãos  ·�ª}©  L¤@B§os - 6,000

AXÈã±A¯ - 5,200

è¤ã@A ·Áp �È - 18,700

¶ã¤ã@ AXÇ - 500

¶ãY@ �A|ã°£A°ã©  e§oq|g - 700

Lup°u  vÁÅu, E« - 1,200

d � ª � v   ë­¶ªA c eÇ  ò W Y©   B � ° @

A^@D  d|ã¥cg  B�°}Ç  íªãpu  ë©ªg

jWXce �È@  A^@B[A.
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4. Rama  commenced  business  as  a  cloth

merchant  on  January - 1,  2003  with  a  capital

of  Rs. 10,000.  On  the  same  day,  he  purchased

furniture  and  fittings  for  cash  Rs. 3,000.  From

the  following  particulars  obtained  from  his

books  kept  by  single  entry,  you  are  required

to  prepare  a  trading  and  profit  and  loss

account  for  the  year  ending  December - 31,

2003  and  a  balance  sheet  as  on  that  date :

Rs....

Sales  (inclusive  of  cash

                           Rs. 7,000) - 17,000

Purchases  (inclusive  of  cash

                                  Rs. 4,000) - 15,000

Rama’s  drawings - 1,200

Salaries  of  staff - 2,000

Business  expenses - 700

5

Turn over

ë­¶ªAceÈã©  éj¤Y|ãA@  èAã[@AopWXg.

2 0 0 6 ,   v ã £ �   3 1 - u   j ã é° ã [   yY¶ � X ¡ u

ì][@AãÈ  jX¶Y@ �AA¯.

¨.....

èdãX@A í§os  (1-4-2005) :

íXãos  ·�ª}©  L¤@B§os - 8,000

AXÈã±A¯ - 5,200

AXÇ  ·Áp �È - 30,000

¶ãX � A¡u  ¶¥¡u - 60

AXÈã±A³@D ë±@AopWX

       d¯³pY - 300

pÁpª  èLª·ÈFA¯ - 300

B �°@D  íX ã os   · �ª}©

 ëÌopopWX  L¤@DA¯ - 40,000
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Rama  took  cloth  worth  Rs. 500  from  the

shop  for  private  use  and  paid  Rs. 200  to  his

son,  but  omitted  to  record  these  transactions

in  his  books.  On  December - 31,  1983,  his

Sundry  Debtors  were  Rs. 5,200  and  Sundry

Creditors. Rs. 3,600.  Stock  in hand  on

December - 31,  2003  was  Rs. 6,500.

5. A  company  made  an  issue  of  10,000  shares

of  Rs. 10  each  payable  Rs. 3  on  application.

Rs. 3  on  allotment,  Rs. 2  on  first  call  and

Rs. 2  on  second  and  final  call.

All  these  shares  were  subscribed.

Directors  made  both  the  calls.  All  moneys

were  received  except  from  one  shareholder

who  holds  100  shares  failed  to  pay  the  first

and  second  calls.  The  directors  forfeited  shares

and  reissued  them  at  Rs. 8  per  shares  as  fully

paid  up.  Journalise  the  above  in  the  books  of

the  company.

6

‘q’ kÅvu ¶�¤|Å@AopWXg.  ‘ò’ kÅvu

¶ � ¤|Å@AopWXeÇ  èLãcg@A �°  ñ[cg@-

èAã][  ¨.  1,20,000 - ©  pãe@D  y¿¶gu

èL­cdopWX  pFDA°ãA¹u  vÁÅu,  pãe@D

è¤ã@AvãA¹u  èL­cdopX  é¶]Y¡¯°g.

A �ªos � èLª¹A¯ ¨. 3 , 000 - vãA}§idg. ô§

AXËiédã£  q  kÅvu  ¶ � ¤|Å@AopWXeÇ

pFDA �°  ¨.  5 , 000 - @D ñ[cg@ èAã¯¶dãA

ôos@èAã][¯°g.  B �X@Aop[u  è¤ã@Au

A X Ë i é d ã £ A ± Ç   é A ã § ¥ � v A � ° �

èL­cg¶dÁDo  épãgvãÈdãA  í§idg.

‘ò’  kÅvu  ¶�¤|Å@AopWXeÇ  ò[A±©

DÃoépW[o  pe¹A¯  d§A .   vÁÅu ,   ‘q ’

kÅvce© pe¹ èL{|op[¶dÁAãÈ DÃoépW[o

pe¹A¯  d§A.

8 . Dv ã £   ¶ � ¤ |Å@Aop W Xg  A ãÇt£   B �°@D

ëX@A·�ª¡XÇ 25 Ld¸du éL£cg L¤@DA¯

ëÌopopWXÈ. B�°}Èã© L¤@DA¯ è¤ã@Au

vÁÅu ,   AXÌ@D  ·Áp �È  èL{|opWXÈ .

B � ° �   è L ª ¹ A ¯   ë � È c g u   d � ª � v
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6. The  balance  sheet  of  Ram  Company  Ltd.  as

on  31-12-2006  was  as  follows :

Machinery  was  found  over  valued  by

Rs. 10,000.  It  was  decided  to  write  down

the  value  of  this  asset  to  its  true  value  and

to  eliminate  other  fictitious  assets  by  the

adoption  of  the  following  course :

(a) Forfeit  the  share  in  which  calls  are

in  arrears.

AssetsLiabilities Rs. Rs.

Share capital :

12,000  shares

of  Rs. 10  each

    Rs. 1,20,000

Less :

Call in

arrears

(Rs.3  per

shares)Rs. 9,000 1,11,000

Creditors 15,425

Provision  for

            taxes 4,000

1,30,425

Goodwill 10,000

Plant  and

    machinery 71,350

Preliminary

       expenses 1,500

Stock 25,275

Bank 1,500

P  &  L  a/c 20,800

1,30,425

7

Turn over

(iii) ôÅq¼os   èL{| o p W X   pFDA¯

ôµè¶ãÇÅu ¨. 5 ¸du vÅè¶±~[

èL{|opW[¯°È.

(iv) é d � ¶ o p W X ã ©   ¶ ¥   ô g @ D

p|Çp[cd¹u.

DÃoépW[o  pe¹A¯  dig ,  íceWXu

j � Xy � Âop[cdopWX  qÇs  ï¯°  í§os

k �ª@DÃos  d|ã¥@A¹u.

7. ò ñÇÂ kÅvu ¶�¤|Å@AopWXeÇ 31-3-2008

ëÇÅ¯°  í§osk �ª@  DÃos  qÇ¶§vãÅ

ï¯°g  :

12,000 pFDA¯

¨. 10 ¸du 1,20,000

EW[§¶ã@AceÁD

yid| íªãpu 2,000

¶FB év©¶ � ¤o

         pÁÅ 36,000

pÁpª

  AXËiédã£A¯ 30,000

1,88,000

jÁèp|£ 10,000

í|ie¤u 90,000

v � È c g � ^ o

    èpã§WA¯ 15,000

L¤@B§os 40,000

pÁpª AXÈã±A¯ 22,000

íªãp jWX@ A/D 11,000

1,88,000

èLãcg@A¯èpãÅosA¯ ¨. ¨.
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(b) Reduce  the  paid  up  capital  by  Rs. 3

per  share.

(c) Reissue  the  forfeited  shares  at  Rs. 5

share.

(d) Utilise  the  provision  for  taxation  if

necessary.

Journalise  and  prepare  the  balance  sheet

after  carrying  out  the  scheme.

7. The  following  is  the  balance  sheet  of  ‘A’

company  Ltd.  as  on  31-3-2007 :

‘B’  company  Ltd.  took  over  the  assets

of  ‘A’  company  Ltd.  for  Rs. 1,20,000  payable

as  to  half  in  fully  paid  shares  and  half  in

AssetsLiabilities Rs. Rs.

12,000  shares

of  Rs. 10 each 1,20,000

Profit  prior  to

   incorporation 2,000

Bank  overdraft 36,000

Sundry creditors 30,000

1,88,000

Goodwill 10,000

Machinery 90,000

Furniture 15,000

Stock 40,000

Sundry  debtors 22,000

Profit  and

       loss  a/c 11,000

1,88,000

8

6. ¤ãu kÅvceÇ í§osk�ª@ DÃos 31-12-2006

ëÇÅ qÇ ¶§vãÅ ï¯°g  :

í|ie ¤u   ¨ .   1 0 , 0 0 0   w � A | ã A   veoqXo -

pW[¯°g. íid èLãceÇ veoq �È ï]�v

veoqÁD èAã][¶§¶dãA yY¹ èL{|opWXg.

v Á Å u ,   q Â   A Á p � È �   è L ã c g @ A ¯

l @ A o p [¶ d Á A ã A   qÇ¶§u   p Yy � Â

évÁèAã¯°opWXÈ.

(i) ë �¼os  k­ �¶|ãA  ï¯°  pFDA¯

ôÅoq¼os  èL{|opWXÈ.

(ii) pFD ôÇÃÁD ¨. 3 ¸du pFD yd©

D �Â@AopWXg .

pFD yd©

12,000 pFDA¯

¨. 10 ¸du

        ̈ .    1,20,000

A½@A :

ë � ¼ o s  k­ � ¶

(pFD ôÇÅ@D ̈ . 3

¸du ̈ .    9,000 1,11,000

AXË iédã£A¯ 15,425

¶¥@AãÈ ôg@D 4,000

1,30,425

jÁèp|£ 10,000

èpãÃ¡u

   í|ie¤yu 71,350

èdãX@A �

    èLª¹A¯ 1,500

L¤@B§os 25,275

¶FB 1,500

íªãp jWX@

         A/D 20,800

1,30,425

èLãcg@A¯èpãÅosA¯ ¨. ¨.
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cash.  The  expenses  of  liquidation  were

Rs. 3,000.  A  creditor  for  Rs. 5,000  agreed  to

take  shares  in  B  company  Ltd.  The  available

cash  was  just  sufficient  to  satisfy  the  claims

of  creditors.

Give  journal  entries  in  the  books  of  ‘A’

company  Ltd.  and  to  record  the  journal  entries

in  the  books  of  ‘B’  company  Ltd.

8. Kumar  Ltd.  invoices  goods  to  Kanpur

branch  at  cost  plus  25 %  both  cash  and

credit  sales  are  effected  by  the  branch.  The

branch  expenses  are  paid  directly  the  head

office.  The  transactions  for  the  year  ending

31-3-2006  are :

Rs.....

Opening  balance  (1-4-2005) :

Stock  at  invoice  price - 8,000

Debtors - 5,200

Credit  sales - 30,000

Rent  &  taxes - 60

Discount  allowed  to  debtors - 300

9

Turn over

5. ô§  kÅvu  1 0 , 0 0 0  pFDA �°  pFD  ôÇÅ

¨.  1 0  ¸du  è¶±~W[  ôµè¶ãÇÅ@Du

·]^opceÇépãg  ¨.  3  ôg@CWYÇépãg

¨.  3  yd©  ë �¼oqÇépãg  ¨.  2  vÁÅu,

íÅe  ë �¼oqÇépãg  ¨ .  2  èL­cdopX -

é¶]Y|g¯°g.

ë � È cg o   p F D A³u   ô o p o p W XÈ .

í | @ D j £ A ¯   í ¤] [   ë � ¼ o s A � ° ¡ u

éAã¥Èã£A¯.  100  pFDA�°o  èpÁÅ¯°  ô§

pFDdã¤£  ydªã¶g  vÁÅu,  íÅe  ë�¼oqÇ

p^u èL­cdc d¶Ã|g lFAªãA ë�Ècgo

p^yu  èpÁÅ@èAã¯°opWXg.  í|@Dj£A¯

íopFDA �°  ôÅq¼os  èL{dÈ£  vÁÅu ,

ë¶Á�Â  y¿¶gu  èL­cdopWX  pFDA°ãA

¨ .  8 - @D  í|@Dj£A°ã©  vÅ  è¶±~[

èL{|opWXg.  évÁEÃ|¶ÁÃÁD  kÅvceÇ

ò[A±© DÃoépW[o  pe¹  d§A.

16

H
ow
To
Ex
am
.co
m

h
tt
p
:/
/w
w
w
.h
o
w
to
e
x
a
m
.c
o
m

h
tt
p
:/
/w
w
w
.h
o
w
to
e
x
a
m
.c
o
m

http://www.howtoexam.com


Rs.....

Sundry  expenses - 300

Goods  sent  to  branch  at

    invoice  price - 40,000

Returns  to head  office  at

   invoice  price - 800

Closing  balance  (31-3-2006) :

Stock  at  invoice  price - 6,000

Debtors - 5,200

Cash  sales - 18,700

Bad  debts - 500

Returns  by  customers - 700

Salaries  &  wages - 1,200

Show  branch  account  in  the  books  of

head  office  and  calculate  profit  or  loss  of  the

branch.

10

è¤ã@AvãA ¶ãFBÈã£ . ôÁ �Âo pe¹ y�Â}©

p ¤ ã v ¥@A o p[u   ë¶¤g  ò[A±«§ig

ñ[@AopW X   qÇ¶§u  dA¶©A±«§ig

2003, YLup£, 31 - u ì]YÁAãÈ ·|ãpã¤ vÁÅu,

íªãp jWX@ A^@D vÁÅu, ëid jã³@AãÈ

í§osk�ª@  DÃos  ôÇÅ  d|ã¥@A¹u.

¨....

·Áp �È  (è¤ã@A

·Áp�È ¨.  7,000  éL£cg) - 17,000

èAã¯yd©  (è¤ã@A

èAã¯yd© ¨.  4,000  éL£cg) - 15,000

¤ãvÉÇ ñ[os - 1,200

p_|ã°£  Lup°u - 2,000

¶_A�  èLª¹A¯ - 700

¤ãvÇ dÇÌ�X| èLãid èLª·ÈFA³@AãA

¨.  500  veos¯°  g_�|  ¶_Ace«§ig

ñ[cdã£. dÇÌ�X| vAÌ@D ¨. 200 èAã[cdã£.

ìÈã©,  íid  jX¶Y@�AA¯  ë¶¤g  ò[A±©

pe¹ èL{¶dÁD ·[pW[¯°g. 2003 - u ì][

YLup£,  31 - ©  ë¶§�X|  pÁpª  AXÈã±A¯

¨ .   5 , 2 0 0   ìA  í§idg  vÁÅu ,   pÁpª

AXËiédã£A¯ ¨. 3,600. 2003 - u ì][ YLup£

31 - u  jã¯  L¤@B§os ¨.  6,500.
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9. Suresh  purchased  a  T.V.  on  hire  purchase  on

the  following  terms :

Rs. 1,200  on  signing  of  the  agreement.

Rs. 1,700  at  the  end  of  the  first  year.

Rs. 1,600  at  the  end  of  the  second  year.

Rs. 5,500  at  the  end  of  the  third  year.

The  hire  vendor  charged  interest  at  10 %

per  annum.  Depreciation  is  to  be  provided  at

10 %  per  annum  on  diminishing  balance.  Pass

necessary  journal  entries  and  show  the  asset

account  and  seller’s  account  in  the  books  of

Suresh.

10. A  company  has  colliery  from  a  landlord  on

1-1-2002  on  lease  at  a  minimum  rent  of

Rs. 15,000  merging  into  a  royalty  of  Rs. 2

per  ton  with  power  to  recoup  short-workings

over  the  first  three  years  of  the  lease. The

output  of  the  colliery  for  the  first  five  years

was  4,000  tons,  10,000  tons,  12,000,  15,000

tons  and  15,000  tons  respectively.

Give  journal  entries  for  five  years  of  the

above  transaction  in  the  books  of  the  company.
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Turn over

¨. ¨.

AXËiédã£A¯ 80,000

AXÇA^@D

          ‘ò’ 20,000

yd©
A^@DA¯  :

‘ò’    60,000

‘q’    80,000

‘M’    80,000 2,20,000

3,20,000

¶°ãAu 80,000

èpãÃ¡u
  í|ie¤yu 60,000

L¤@B§os 60,000

AXÈã±A¯ 1,20,000

3,20,000

èLãcg@A¯  f£¶ãAop[uépãèd©ªãu

EWXã±A³@D@  èAã[pXé¶]Y|  èdã � A

èA ã[@A o p X   é¶][u  ñÇÅ

ôos@èAã¯°opWXg.

yd©  d¶�^  ¨.  60 ,000 .

í¤]Xã¶g  d¶�^ ¨.  1,46,000 .

zÇÂã¶g  d¶�^ ¨.  94,000 .

p^u  ñµ¶ãÅ  pB £ i d±@Ao p[BÇÂg

ñÇpdÁAãÈ  ëÃ@�A  ôÇÅ  d|ã¥@A¹u.

4. 2003 - u  ì][  LÈ¶¥,  1 - u  jã¯  ¤ãvÇ

ñÇp¶£  g_  ·|ãpã¥|ãA  dÈg  èdã½�ª

¨.  10,000  yd­XÇ  èdãXFBÈã£.  ëédjã±©

v �È cg �^o   è p ã§ W A¯   ¨ .   3 , 0 0 0 - @D
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dw¼ã@Au

òédÌu  óig ·Èã@A³@D  ·�X|±@A¹u.

ë � È c g  ·Èã@A³@Du  Lv  veoèp]A¯.

(5 × 20 = 100)

1. ë§] vÁÅu, pãªÇ íªãpce�È 3 : 2 ñÇÂ

·Bdce©  pB£igèAã¯³u  épãg  1999  -  u

ì][,  év,  1 - ©  í�^  ì¡¯  eWXã¶^u

ôÇÅ ñ[@AopWXg. ì][ y�Èvu ¨. 1,300

ìA í§idg. ëceWXã¶^ceÇ L¤] veos :

1999 - í© � ª   ;

2000 - ¨.  400,

2001  - ¨ 400  ;

2002  - ¨. 1,450

ìA  í§idg.

pãªÇ 2002 - u ì][ èLoXup£, 15 - ©

íÂig·WXã£  vÁÅu ,  eWXã¶^ceÁAãÈ

èd ã � A   2 0 0 2   -  u  ì][  YLup£,  31  - ©

èpÂopWXg. ôµè¶ã§ ì][u YLup£, 31 - ©

ò[A¯  yY@Aop[BÇÂÈ.

í�^ ì¡¯ eWXã¶^@ A^@D vÁÅu,

í �^  ì¡¯  eWXã¶^@  Aãos@  A^@D

d|ã¥@A¹u.

12

2. 31-3-2002 ëÇÅ ô§ kÅ¶ÈceÇ í§osk�ª@

DÃos qÇ¶§vãÅ ï¯°g  :

2002, vã£ � 31 - © ëikÅ¶Èu A�ª@AopWXg.

A XËiéd ã§@D  5   L d¸du   ¶W X ce©

èAã[@AopWXg. ë§] AWYXc�d ¨.  9,000 - @D

ñ[cg@èAã¯¶dãA  ôos@èAã¯°opWXg .

pãªÇ  yd¬[A �°  ¨.  1 , 500 - @Du  Lã£ªÒ

òW[@ A XÇA � °   ¨ .   6 0 0 - @Du  ñ[cg@ -

èAã]XÈ£.  f£·ÁAãÈ  èLª¹A¯  ¨.  110 .

kÅ¶ÈceÇ  ò[A�°  yY@A¹u.

3. ‘ò’ , ‘q’ vÁÅu, ‘M’ EWXã]�v}© ï¯°È£.

2005 - u  ì][  YLup£,  31 - u   j ã°Ç � Â |

í§osk�ª@ DÃos qÇ¶§vãÅ ï¯°g. ëéd

jã±©, ë¶£A¯ EWXã] �v � |@ A �ªcdÈ£ .

ë¶£A±Ç  íªãpu  pB£igèAã¯³u  ·Bdu

5 : 3 : 2 y �Âé| í§idg.

èLãcg@A¯èpãÅosA¯ ¨. ¨.

ë§_Ç  yd© 5,000

pãªÉÇ yd© 4,000

Lã£ªÔÇ yd© 3,000

AXËiédã£A¯ 2,000

14,000

AWYXFA¯ 8,000

yd¬[A¯ 2,000

òW[@  AXÇA¯ 2,000

è¤ã@Au 2,000

14,000
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